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1) Open the parentheses and simplify the following expressions:

a)

(
4x2 + 2x

)2
(2x)2

b)

(√
40 +

√
4
)(√

40−
√
4
)

3
√
12

2) Sketch the graphs of the following parabolas:

a) y = x2 − 6x− 7

b) y = −x2 + 100

3) Multiply the following matrices: (If possible)

a)

[
3 2 −1
1 0 4

] 5 4 8

6 −2 11

0 −3 1



b)

[
6 3 4 8

1 0 5 −1

] 9 1 3 0

10 6 5 1

0 −7 14 −8



4) Find the determinant of the following matrices:

a) A =

[
10 25

3 12

]

b) B =

 1 4 5

0 3 9

2 1 −1



5) Solve the following system of equations using inverse matrix:

3x+ 4y = 8

−2x+ 3y + 2z = −1
7x+ 6y − z = 17



ANSWERS

1) a)

(
4x2 + 2x

)2
(2x)2

=
16x4 + 16x3 + 4x2

4x2

= 4x2 + 4x+ 1

b)

(√
40 +

√
4
)(√

40−
√
4
)

3
√
12

=
40− 4

3
√
12

=
36

6
√
3

=
6√
3

= 2
√
3

2) a)

O x

y

−1 7

−7

3

−16

y = x2 − 6x− 7

b)

O

x

y

10−10

100
y = −x2 + 100



3) a)

[
3 2 −1
1 0 4

] 5 4 8

6 −2 11

0 −3 1

 =

[
27 11 45

5 −8 12

]

b) The matrix product is undefined.

4) a)
∣∣A∣∣ = 10 · 12− 25 · 3 = 45

b)
∣∣B∣∣ = 1 · (−12) + 2 · 21 = 30

5)

 3 4 0

−2 3 2

7 6 −1

−1

=
1

3

 −15 4 8

12 −3 −6
−33 10 17


 x

y

z

 =
1

3

 −15 4 8

12 −3 −6
−33 10 17

 8

−1
17

 =

 4

−1
5




